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HOLY @) TRINITY
Yellow 6

234 x5
Simplify:
Evaluate 55 - 83 + 45

Matthew has 9 sweets.
Three are green and six are yellow sweefts.
What fraction of the sweets are green? Simplify your answer.

Five people go to a café and get a bill for £14.20. They split the bill
equally. How much do they each pay?

Cameron plugs his laptop in fo charge at 11:22pm. It takes two hours and
forty seven minutes to charge. What time will it finish charging? Write
your answer in 24 hour fime.

Lewis wants to buy a car that costs £600. To do this, he saves 30% of
his wages each month. Each month he earns £300. How many full months
will it take him to save enough money?

At Spuds-R-Us, a 2.5kg bag of potatoes costs £1.25. How much would
one tonne of potatoes cost? (Hint 1 tonne = 1000 kg)



